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Directions (Q. 1-5):Read the given graphs carefully and answer the questions that follow: 

During the Summer season, people from Delhi are travelling to different holiday locations by booking 

tickets from Holiday.com. The total revenue generated by the website is Rs. 1,20,000.

दिए गए ग्राफ़ को ध्यान से पद़िए और नीचे दिए गए प्रश्ो ों के उत्तर िीदिए: गर्मी के र्मौसर्म र्में दिल्ली
से लोग बुदकों ग करके अलग-अलग हॉदलडे लोकेशन की यात्रा कर रहे हैं Holiday.com से दिकि।
वेबसाइि द्वारा उत्पन्न कुल रािस्व 1,20,000 रुपये है।

City Ticket  Cancelled

Chandigarh 3

Jaipur 12

Manali 10

Shimla 13

Rishikesh 15

21%

22%

15%

24%

18%

Sale of ticket

Chandigarh

Jaipur

Manali

Shimla

Rishikesh

Note: (Cancelled tickets have no 
reimbursement)
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(A)7 (B)8 (C) 5 (D) 12 (E)10

Q.1 :-If the cost of each ticket on traveling to Manali is Rs. 1200, then what will be the 
number of people who travelled?
यदि र्मनाली की यात्रा पर प्रते्यक दिकिका रू्मल्यरु. 1200 है, तो यात्रा करने वाले व्यक्तियो ोंकी
सोंख्याक्या होगी?
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15%
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Manali
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Rishikesh
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(A)10.6 (B)11.4 (C)9.8 (D)12.6 (E)8.8

Q.2 :- What average number of tickets cancelled per city ?

प्रदत शहरऔसतन दकतने दिकि रद्द दकए गए?
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(A)1022.5 (B) 1331.5 (C) 1058.5 (D)1124.5 (E)1041.5

Q.3 :-The total number of people that travelled to Jaipur was 15 and to Shimla was 13 then 
calculate the  average price per ticket.
ियपुर की यात्रा करने वाले लोगो ोंकी कुल सोंख्या 15 थीऔर दशर्मला की यात्रा करने वालो ोंकी
कुल सोंख्या 13 थी, तो प्रदत दिकिऔसत रू्मल्यकी गणना करें ।
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(A)14 (B) 15 (C)16 (D)17 (E)18

Q.4 :- If the cost of each ticket on travelling to Rishikesh is Rs. 1440 and no ticket was 
cancelled, then what  will be the number of people who travelled?
यदि ऋदिकेशकी यात्रा पर प्रते्यक दिकिका रू्मल्यरु. 1440 औरकोई दिकि रद्द नही ों दकया गया, 
तो यात्रा करने वालो ोंकी सोंख्याक्या होगी?
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(A)16 (B)20 (C)22 (D)24 (E)12

Q.5 :-What was the average number of tickets booked per city if tickets were sold at Rs.1500 
each?
यदि दिकि 1500 रुपये प्रते्यक पर बेचे गए थे, तो प्रदत शहर बुक दकए गए दिकिो ों कीऔसत
सोंख्याक्या थी?
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(A) 3 month (B) 4 month (C) 2 month (D) 6 month (E) None of these

Q.6 :- A and B started a business with some amount ratio of 2 : 1. After some months they 
double their share and after 2 months, B leaves the business and C joined the business with an 
amount Rs. 10000. After 4 months of joining, C doubles his money, and B comes back to the 
business with his initial principal Rs. 2000. At the end of the year, it is seen that the share of A 
and C are the same. After how many month A and B double their amount? 
पाइपA एकिैंकको भरने र्में पाइपB से 10 घोंिे अदिक लेता है। पाइपसी (िो पाइप एऔर पाइप बी
के सर्मान ही कुशल है), उसी िैंकको 12 घोंिे र्में भरता है। पाइपA, पाइपB औरपाइपC िोंकीको
दकतने घोंिे र्में भरें गे यदि पाइपA के साथB औरC एकाोंतर घोंिे र्में हो ों।
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(A) 4500 (B) 3000 (C) 1500 (D) 950 (E) 900

Q.7 :- A man has a total of Rs. 5450 in Rs 10, Rs. 20, and Rs. 50 denomination notes. If ratio 
of number of Rs. 10 notes to Rs. 50 notes is 19 : 6 and number of notes of Rs. 50 
denomination is 80% less than Rs. 20 notes, then find the total value of Rs. 20 notes. 
एकआिर्मी के पास 10 रुपये, 20 रुपयेऔर 50 रुपये के नोिो ों र्में कुल 5450 रुपये हैं। यदि रुपये की
सोंख्याकाअनुपात। 50रुपये के 10 नोिो ोंकी सोंख्या 19:6 है और 50रुपये के नोिो ोंकी सोंख्या २०
रुपये के नोिो ोंकी तुलना र्में 8०% कर्म है, तो २० रुपये के नोिो ोंका कुल रू्मल्यज्ञातकीदिए।
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(A) 30 (B) 20 (C) 10 (D) 5 (E) None of these

Q. 8 :- Pipe A takes 10 hours more than Pipe B to fill a tank. Pipe C(which is equally 
efficient as Pipe A and Pipe B together), fills the same tank in 12 hours. In how many hours 
will Pipe A, Pipe B and Pipe C fill the tank if Pipe A is accompanied by B and C on 
alternate hours. 
पाइपA एकिैंकको भरने र्में पाइपB से 10 घोंिे अदिक लेता है। पाइपसी (िो पाइप एऔर पाइप
बी के सर्मान ही कुशल है), उसी िैंकको 12 घोंिे र्में भरता है। पाइपA, पाइप B औरपाइपC िोंकी
को दकतने घोंिे र्में भरें गे यदि पाइपA के साथ B औरC एकाोंतर घोंिे र्में हो ों।
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Directions (Q. 9-13):Read the data carefully and answer the questions. 

In an examination, six subjects - S1, S2, S3, S4, S5, and S6 have equal maximum marks. The 

number of marks scored by one particular candidate in subject S1 is 20% less than his 

marks in subject S6. The ratio of marks scored by the same candidate in subject S2 to that 

in S3 is 4: 5 and that in S4 to S5 is 3: 4. The number of marks scored by this candidate in 

subject S5 is 25% more than that of S6. He scored 65 marks in the subject S3. He scored 

436/9 % in the examination and the average of marks scored by him in all the subjects is 

218/3. 

एक परीक्षा र्में, छह दवियो ों - S1, S2, S3, S4, S5, और S6 के अदिकतर्म अोंक सर्मान हैं। दविय S1 र्में

एक दवशेि उम्मीिवार द्वारा प्राप्त अोंको ों की सोंख्या, दविय S6 र्में उसके अोंको ों से 20% कर्म है। उसी

उम्मीिवार द्वारा दविय S2 र्में S3 र्में प्राप्त अोंको ों का अनुपात 4:5 है और S4 से S5 र्में 3:4 है। इस

उम्मीिवार द्वारा S5 दविय र्में प्राप्त अोंको ों की सोंख्या S6 से 25% अदिक है। उन्ोोंने S3 दविय र्में 65 

अोंक हादसल दकए। उसने परीक्षा र्में 436/9% अोंक प्राप्त दकएऔर सभी दवियो ों र्में उसके द्वारा प्राप्त

अोंको ों का औसत 218/3 है।.
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Directions (Q. 9-13):Read the data carefully and answer the questions. 

In an examination, six subjects - S1, S2, S3, S4, S5, and S6 have equal maximum marks. The number of marks 

scored by one particular candidate in subject S1 is 20% less than his marks in subject S6. The ratio of marks 

scored by the same candidate in subject S2 to that in S3 is 4: 5 and that in S4 to S5 is 3: 4. The number of 

marks scored by this candidate in subject S5 is 25% more than that of S6. He scored 65 marks in the subject 

S3. He scored 436/9 % in the examination and the average of marks scored by him in all the subjects is 218/3. 
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(A)45 (B) 40 (C) 30 (D) 33.33 (E) None of these

Q.9 :- The number of marks obtained by the candidate in the subject S3 was how much 
percentage less than that of subject S5? 
उम्मीिवार द्वारा दविय S3 र्में प्राप्तअोंको ोंकी सोंख्या, दविय S5 से दकतने प्रदतशतकर्मथी?
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(A)11 and 13 (B) 13 and 17 (C) 9 and 13 (D) 9 and 17 (E) 11 and 17

Q.10 :- Total marks scored by S2 and S3 is multiple of which of the following pairs.
S2 और S3 द्वारा प्राप्त कुलअोंक दनम्नदलक्तितर्में से दकस युग्मका गुणि है।
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(A)30 (B) 66.66 (C) 50 (D) 33.33 (E) 60

Q.11 :- What percentage of marks the candidate had scored in the subject S5 over the 
maximum marks of that subject? 
उम्मीिवार ने दविय S5 र्में उस दविय के अदिकतर्मअोंको ों से दकतने प्रदतशतअोंक प्राप्त दकए हैं?
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(A)28 (B) 26 (C) 27 (D) 21 (E) 23

Q.12 :- The number of marks obtained by the candidate in the subject S2 was how much 
less than in the subject S4? 
उम्मीिवार द्वारा दविय S2 र्में प्राप्तअोंको ोंकी सोंख्या, दविय S4 से दकतने कर्मथी?
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(A)90 (B) 80 (C) 70 (D) 60 (E) None of these

Q.13 :- What was the average of marks obtained by the candidate in the subject S5 and S6 
together? 
उम्मीिवार द्वारा S5 और S6 दवियर्में प्राप्तअोंको ोंकाऔसत दकतना था?
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Directions (Q. 14-18): Read the following Caselet DI carefully and answer the following questions. 

3 cubes P, Q, and R are cut from the cubes A, B, and C respectively. 

(i) The length of the side of cube P is given by the equation x² - 12x + 36 = 0 and the length of the side 

of cube A is 2 cm more than cube P. 

(ii) The length of the side of cube Q is given by the equation y² + 21y - 46 = 0 and the length of the 

side of cube B is 3 cm more than cube Q. 

(iii) The length of the side of cube R is given by the equation z² - 10z + 25 = 0 and the length of the 

side of cube C is 4 cm more than cube R. 

Here x, y, and z are in centimeter.
3 घन P, Q और R को क्रर्मशः घन A, B और C से कािा िाता है।

(i) घन P की भुिा की लोंबाई सर्मीकरण x² - 12x 36 = 0 द्वारा िी गई है और घन A की भुिा की लोंबाई घन P से 2 सेर्मी

अदिक है।

(ii) घन Q की भुिा की लोंबाई सर्मीकरण y² +21y - 46 = 0 द्वारा िी गई है और घन B की भुिा की लोंबाई , घन Q से 3

सेर्मी अदिक है।

(iii) घन R की भुिा की लोंबाई सर्मीकरण z² - 10z 25 = 0 द्वारा िी गई है और घन C की भुिा की लोंबाई , घन R से 4 सेर्मी

अदिक है
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Directions (Q. 14-18): Read the following Caselet DI carefully and answer the following questions. 

3 cubes P, Q, and R are cut from the cubes A, B, and C respectively. 

(i) The length of the side of cube P is given by the equation x² - 12x + 36 = 0 and the length of the side 

of cube A is 2 cm more than cube P. 

(ii) The length of the side of cube Q is given by the equation y² + 21y - 46 = 0 and the length of the 

side of cube B is 3 cm more than cube Q. 

(iii) The length of the side of cube R is given by the equation z² - 10z + 25 = 0 and the length of the 

side of cube C is 4 cm more than cube R. 

Here x, y, and z are in centimeter.
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(A) 679 (B) 455 (C) 512 (D) 512 (E) 1078

Q.14 :- How many cubes of type A can be made by a cuboid of dimensions 64 cm × 65 cm × 56 
cm? 
64 सेर्मी × 65 सेर्मी × 56 सेर्मी दवर्माओों वाले घनाभ द्वाराA प्रकार के दकतने घन बनाएिा सकते हैं?
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(A) 25% more (B) 10% less (C) 33.33% more (D) 12.5% more (E) 25% less

Q.15 :- The average length of side of cube P, B, and C is how much percent more or less than the 
average length of side of cube A, Q, and R? 
घन P, B, औरC की भुिाकीऔसतलोंबाई, घन A, Q औरR की भुिाकीऔसतलोंबाई से दकतने
प्रदतशतअदिकयाकर्म है?
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(A) 5:1(B) 17:7 (C) 11:3 (D) 131:37 (E) 104:19

Q.16 :- What is ratio of volume of cube A and P together to the volume of cube B and Q 
together?
घनA और P के एकसाथआयतनका घन B औरQ के दर्मलाकरआयतन से अनुपात दकतना है?
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(A) 2:3 (B) 5:7 (C) 4:9 (D) 8:3 (E) 3:2

Q.17 :- What is the ratio of total surface area of cube P to total surface area of cube C?
घन P के कुल पृष्ठीय के्षत्रफलका घनC के कुल पृष्ठीय के्षत्रफल से अनुपात दकतना है?
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(A) P and B (B) R and A (C) P and C (D) R and B (E) R and P

Q.18 :- From the given cubes, which two cubes have equal side length?
दिए गए घनो ों र्में से दकन िो घनो ोंकी भुिाओोंकी लोंबाईसर्मान है?
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(A) 55300 (B) 58400 (C) 67200 (D) 75200 (E) 62500

Q.19 :- A man spends 15%, 20% & 25% of his monthly income on mutual funds, travelling & 
medicines respectively and remaining of the income on households. If the difference between 
expenditures on households & mutual funds is Rs. 16,800 then calculate his monthly income.
एकआिर्मी अपनी र्मादसकआयकाक्रर्मशः 15%, 20% और 25% मू्यचुअलफों ड, यात्राऔर िवाओों
परिचच करता हैऔर शेिआयघरो ों परिचच करता है। यदि घरो ोंऔर मु्यचुअलफों ड परिचच के बीच
काअोंतर रु. 16,800 तो उसकी र्मादसकआयकी गणनाकरें
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(A)780 (B) 886 (C) 892 (D) 986 (E) 850

Q.20 :- A man sold his article at 35% gain. If he sold articles for Rs. 50 more, he would have 
gained 45% , If he wants a profit of 56% then what should be the marked price of the article if 
there is no discount 
एकव्यक्ति ने अपनी वसु्त को 35% लाभपर बेचा। यदि वह 50 रुपये अदिकर्में वसु्त बेचता है, तो उसे
45% कालाभ होता है, यदि वह 56% कालाभचाहता है तो छूि न होने पर वसु्त काअोंदकत रू्मल्यक्या
होना चादहए
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Directions (Q. 21-25):The bar graph shown below indicate the number of books owned and the number of 

books issued by the 5 different libraries A, B, C, D, and E. Based on the given bar graph answer the 

question given below: 

नीचे दििाया गया बार ग्राफ 5 दवदभन्न पुस्तकालयो ों ए, बी, सी, डी, और ई द्वारा स्वादर्मत्व वाली

पुस्तकोों की सोंख्या और िारी की गई पुस्तकोों की सोंख्या को िशाचता है। दिए गए बार ग्राफ के आिार

पर नीचे दिए गए प्रश् का उत्तर िें:
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(A)100 (B) 90 (C)96 (D)84 (E)85

Q.21 :-Find the average number of books available in all 5 library.

सभी 5 पुस्तकालय र्में उपलब्ध पुस्तकोोंकीऔसत सोंख्या ज्ञात कीदिए।
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(A)2:3 (B) 3:2 (C) 5:3 (D)3:1 (E) 1:1

Q.22 :- Find the ratio between the books available in library A, C and D together to books 
available in library  B and E together.
पुस्तकालयA, C औरD र्में एकसाथ उपलब्ध पुस्तकोोंका पुस्तकालय B और E र्में दर्मलाकर उपलब्ध
पुस्तकोों से अनुपात ज्ञात कीदिए।
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(A)33.33% more (B) 12.5%less (C) 25% less (D) 16.66%less (E)10%more

Q.23 :- Books available in library A and D together is how much percent more or less than 
the books  available in library B and E together?
पुस्तकालयA औरD र्में दर्मलाकर उपलब्ध पुस्तकें , पुस्तकालय B और E र्में दर्मलाकर उपलब्ध
पुस्तकोों से दकतने प्रदतशत अदिक या कर्म हैं?
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(A)25% (B)10% (C)20% (D) 5% (E)8%

Q.24 :-Books available in library D is how much percent of books owned by library B and 
C together?
पुस्तकालयD र्में उपलब्ध पुस्तकें , पुस्तकालय B और C के पास एकसाथस्वादर्मत्व वाली पुस्तकोों
का दकतना प्रदतशत है?

440

520
480

420

540

360

440 420

320
380

0

100

200

300

400

500

600

Liabrary - A Liabrary-B Liabrary-C Liabrary-D Liabrary- E

Books owned Books issued

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)5:4 (B) 3:2 (C)8:7 (D) 6:5 (E)2:1

Q.25 :-What is the ratio of total books owned by all the libraries together to total books 
issue by all the libraries together?
सभी पुस्तकालयो ों के स्वादर्मत्व वाली कुल पुस्तकोोंका सभी पुस्तकालयो ों द्वारा िारी कुल पुस्तकोों
से अनुपात दकतना है?
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Directions (26 – 30):- In the following questions, calculate quantity 1 and quantity2, compare them 
and answer according to the following options.

(a) If Quantity 1 > Quantity2
(b) If Quantity 1 < Quantity2
(c) If Quantity 1 ≥ Quantity2
(d) If Quantity 1 ≤ Quantity2
(e) If Quantity 1 =  Quantity2 or no relation can be established
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26. In the given question, two equations numbered l and II are given. Solve both the equations and 
mark the 
appropriate answer. 
Quantity I: x² - 39x + 378 = 0 
Quantity II: y² - 24y + 108 = 0
दिए गए प्रश् र्में िो सर्मीकरणसोंख्या l और II दिए गए हैं। िोनो ों सर्मीकरणो ोंको हल करें और को
दचदितकरें उदचत उत्तर।
र्मात्रा I: x² - 39x + 378 = 0 
र्मात्रा II: y² - 24y + 108 = 0
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27. Quantity I: The average of four number is 14. If one number is removed from its set then the 
average is reduced by 1, Find the removed number. 
Quantity II: 15
र्मात्रा I: चार सोंख्याओों काऔसत 14 है। यदि इसके सेि से एकसोंख्या को हिा दिया िाता है तो
औसत 1 से कर्म हो िाता है, हिाई गई सोंख्या ज्ञात कीदिए।
र्मात्रा II: 15
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28. Quantity I: Two dice are thrown simultaneously. What is the probability of getting even number 
on both the dice? 
Quantity II: 1/3
र्मात्रा I: िो पासे एक साथफें के िाते हैं। िोनो ों पासो ों पर सर्म सोंख्याआने की प्रादयकताक्या है? 
र्मात्रा II: 1/3

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

E04613

29. In the given question, two equations numbered l and II are given. Solve both the equations and 
mark the 
appropriate answer. 
Quantity I: 2x² - 22x + 48 = 0 
Quantity II: y² - 20y + 96 = 0
दिए गए प्रश् र्में िो सर्मीकरणसोंख्या l और II दिए गए हैं। िोनो ों सर्मीकरणो ोंको हल करें और को
दचदितकरें उदचत उत्तर।
र्मात्रा I: 2x² - 22x + 48 = 0 
र्मात्रा II: y² - 20y + 96 = 0
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30. Quantity I: A downstream speed is 10 km/h and upstream speed is 5 km/h. Distance covered by 
a boat in still water is 15 km. Find the time taken by boat to cover the distance. 
Quantity II: 2 hours
र्मात्रा I: िारा के अनुकूल गदत 10 दकर्मी/घोंिा है और िारा के प्रदतकूल गदत 5 दकर्मी/घोंिा है। शाोंत
िल र्में एक नाव द्वारा तय की गई िूरी 15 दकर्मी है। नाव द्वारा िूरी तय करने र्में दलया गया सर्मय
ज्ञात कीदिए।
र्मात्रा II: 2 घोंिे
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Directions (Q. 31-35): The following questions are accompanied by two statements (I) and 

(II). You have to determine which statements(s) is/are sufficient/necessary to answer the 

questions. 

दनम्नदलक्तित प्रश्ो ों के साथ िो कथन (I) और (II) हैं। आपको यह दनिाचररत करना है दक कौन से कथन

प्रश्ो ोंका उत्तर िेने के दलए पयाचप्त/आवश्यकहैं।

(A)Statement (I) alone is sufficient to answer the question but statement (II) alone is not sufficient to answer the questions.

अकेले कथन (I) प्रश् का उत्तर िेने के दलए पयाचप्त है लेदकन अकेले कथन (II) प्रश्ो ों का उत्तर िेने के दलए पयाचप्त नही ों है।

(B) Statement (II) alone is sufficient to answer the question but statement (I) alone is not sufficient to answer the question. 

अकेले कथन (II) प्रश् का उत्तर िेने के दलए पयाचप्त है लेदकन अकेले कथन (I) प्रश् का उत्तर िेने के दलए पयाचप्त नही ों है।

(C) Both the statements taken together are necessary to answer the questions, but neither of the statements alone is 

sufficient to answer the question. 

िोनो ोंकथनो ों को एक साथ दलया िाना प्रश्ो ों का उत्तर िेने के दलएआवश्यक है, लेदकन इनर्में से कोई भी कथन अकेले प्रश् का उत्तर िेने

के दलए पयाचप्त नही ों है।

(D) Either statement (I) or statement (II) by itself is sufficient to answer the question. 

या तो कथन (I) या कथन (II) अपनेआप र्में प्रश् का उत्तर िेने के दलए पयाचप्त है।

(E) Statements (I) and (II) taken together are not sufficient to answer the question. 

कथन (I) और (II) को दर्मलाकर प्रश् का उत्तर िेने के दलए पयाचप्त नही ोंहैं।
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Q.31:- Two Cars were traveling towards each other. What is the distance between them 
just 15 minutes before they 
meet? 
I. Speed of Car A and Car B is 15 km/hr and 21 km/hr respectively. 
II. The Distance between them originally is 72 km.
िो कारें एक िूसरे कीओर िा रही थी ों। उनके बीच की िूरी उनके ठीक 15 दर्मनि पहले दकतनी
है दर्मलना?
I. कार A औरकार B की गदत क्रर्मशः 15 दकर्मी/घोंिाऔर 21 दकर्मी/घोंिा है।
II. उनके बीच की िूरी रू्मलरूप से 72 दकर्मी है।
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Q.32 :- Find the total amount invested by Mr. X. 
I. Total amount received by Mr. Y after 2 years is Rs. 4000 at compound interest.
II. X and Y invested their amount at simple interest and compound interest respectively 
and the difference between the interests received by both after 3 years is Rs. 1500.
दर्मस्टर एक्सद्वारा दनवेशकी गई कुल रादश ज्ञात कीदिए।
I. श्री वाई को 2 विच बाि प्राप्त कुल रादश रु. 4000 चक्रवृक्तिब्याि पर।
II. X और Y ने अपनी रादश को क्रर्मशः सािारणब्यािऔर चक्रवृक्तिब्याि पर दनवेश दकयाऔर
3 विच बाि िोनो ों को प्राप्तब्याि के बीचका अोंतर रु. 1500.
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Q.33 :-What is the sum of the ages of A and B? 
I. Ratio of Ages of A and B is 2 : 1 and that of B and C is 3 : 2. 
II. Difference between ages of A and C is 20 years
A और B कीआयु का योगक्या है? 
I. A और B कीआयु का अनुपात 2:1 है और B और C कीआयु का अनुपात 3:2 है।
II. A और C कीआयु के बीच का अोंतर 20 विच है
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Q.34 :-Find the initial quantity of milk in jar A. 
I. Ratio of the Milk and water in Jar A and B is 3 : 2 and 4 : 3 respectively. 
II. 28 liters of the mixture of B is poured into A and then the ratio of the Milk and water in 
Jar A becomes 17 : 12.
िार A र्में िूि की प्रारों दभक र्मात्रा ज्ञात कीदिए। I. िार A और B र्में िूिऔर पानी का अनुपात
क्रर्मशः 3:2 और 4:3 है।
II. B के दर्मश्रणका 28 लीिर A र्में डाला िाता है और दफर िार A र्में िूिऔर पानी का अनुपात
17:12 हो िाता है।
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Q.35 :-Number of Females in 2020 is what percent of the number of Males in 2019? I. The 
ratio of number of Males to Females in 2019 is 3 : 2 and the difference between number of 
males and females in 2019 is 500. 
II. The ratio of number of Males and Females in 2020 is 6 : 5 and there is 20% growth in 
the number of Males in 2020 as compared to 2019.
2020 र्में र्मदहलाओोंकी सोंख्या 2019 र्में पुरुिो ों की सोंख्या का दकतना प्रदतशत है?
I. 2019 र्में पुरुिो ोंऔर र्मदहलाओों की सोंख्या का अनुपात 3: 2 है और 2019 र्में पुरुिो ोंऔर
र्मदहलाओों की सोंख्या के बीच का अोंतर 500 है।
II. 2020 र्में पुरुिो ोंऔर र्मदहलाओों की सोंख्या का अनुपात 6:5 है और 2019 की तुलना र्में 2020 
र्में पुरुिो ों की सोंख्या र्में 20% की वृक्ति हुई है।
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